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I Miscellany about o1a»
a 4 brothers married to 4 different women who all die childless — B5 may be na»n all of them
i in spite of directive (v. 1) to advise him to marry intelligently (not a much older women e.g.)
ii ~“4” given as example of maximum suggested (even if he is wealthy) so that each will get at least 1
conjugal visit per month
b  multiple wives — any one of which gets n¥n or m1a» — rest are released
i ie.non¥Ynor ma» on any remaining wives:
1  may not perform D12 on more than 1 — as per Ynx ma nr M
2 no n¥Yn on more than 1-5yin 190 1 — only 1 “house” gets n¥'on
3  noma»to1and n¥Yn to the other:
(a) because ma»::nxHn (since the 2nd can’t have ma», as above, she also doesn’t get nxon), and
(b) people will think that a household has to be tended to thus, which would be acceptable, unless
(c) the nx9nis done first, then the D127 is a violation of mxn DIPNI RYY NR NVR
(i) suggestion: perhaps ma» only applies when there is 1 wife
(if) rejection: why would the n1n prohibit n1p nax?
(iii) Defense: perhaps we would view the N1y as “out” and the n7x as a “sole wife”
(iv) Rather: 1mn1 x 2 — expands ma» to case of multiple wives
ii  if 1 is (otherwise) N3 (for n11nd) and one n%ws —
1 if he is planning on performing n¥’%n, let him give n¥%n to the (otherwise) n%108
(a) soas not to invalidate the nw> for future marriage with a 113 (»a7’s aphorism)
2 if heis planning on performing ma», let him do so with the (otherwise) nw>
II x> mwn: definition of nmn (part 1)
a YA -PIRY 1N (e.g. NMNIYN NIMP ,INRION NV 1TIN) generate MITHN
i Challenge: y" shouldn’t reckon m¥15n nanp, which is (according to »27) "R NOR
ii ~ Emendation: read "nw17 na11p” as borne out by continuation of text
iii ~Rethink: accept yn¥1on navp; ™ considers it n”nn based on Yvan yivn pa —nxvn associated wrhis “house”
b 111 - disagree — but agree in case of ynw1 Na1p (e.g. divorcee’s sister)
III  Status of child of mwy 1NN
a (2771 v™ owa) qov ‘1 all agree (anonn NYNY — [only extends marmn to mn» »a»n) that child is invalid for nnn>
i Argument:1"p from nnYR — a non-universal MR, yet the child is 9on
ii ~ Counter: YR herself becomes n%Yn as a result
1 Doublecounter: verse reckons her as nayin (®’n nayin) — excluding child (payin nna pry)
(a) Triplecounter: Xn»»12: wnan explicitly reckon child of 1w 11NN to be 1wa
(b) Assumption: m7w3 of Ton (parallel to her mw)) is for nnnd
() Rejection: perhaps they are distinct:n7w3 for nn3 and the child - for Ynp (not n1nd)
(d) Support: in (v™) RO, her %108 ("1N2) is not same as child’s (>np) >same possible split in ka0
2 Rejection of doublecounter: naymn ®>n excludes n1%, not children
iii  Counter: still difficult
iv  Rather: qov '7’s statement should be: all agree (even yw1» 1, who only extends mnmn to result of mmn »a»n
17 n»a) that result of mn»™3 27N is NINIY Do
1 Argument: v"p from nndR — a non-universal MR, yet the child is Y5n
2 Counter: n1HR herself becomes n%Yn as a result
3 Defense: mm»3 »a»n renders her a N
b nnya: “all agree” that 0"y 72y that have relations with a 587w’ na - result is 7ran
i “all agree”: en »1°nn NYNW who usually requires mMn’13 »2»n — only w3 if posn pwITR
1 rejection: parallel opinion to ("MN? 92 NYNY “1) 210NN NYRY — 1o HRIY? N2 HY RIN DY 12PN In;
2 rather: to include »17, who rejected »"1's equation of n¥19n to MY — but agrees vis-a-vis 0"y T2
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